Agree or Disagree?

1. Joe Smart asked Moe Smart to divide a pie into thirds so they could
share it among themselves and Mrs. Smart.

Joe said: Moe said:

Yes it is! I
cut the pie
into 3 pieces!

This is not
divided into
thirds!

2. Moe said these things show +-.

Joe said: Then Joe said:

This shape does not
show 3. The halves
are not symmetrical.

This rectangle
does not show §
either! It is not
symmetrical and it
is divided into 8
parts, not 2. There
are 4 parts
shaded, not 1.

3. Mrs. Smart said the boys could each have a 15 glass of juice.

Moe said:

You did not pour
a half of a glass!
You have much
more juice!

Moe’s glass Joe’s glass
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